®

The: Life of the Kitchen®

FARED
Ca\Ta\LE)C

OGC52 Grill Cart

Page Description
2 Right Panel Click Here
3 Top Drawer Gick Hore
4 Tank Drawer Ciick Here
5 Electrical Box Glck Here
6 Bottom Panel Gl Here
7 Bottom Drawer ok Here
8 Left Panel Cick ere
9 Drawer Divider Ciick Here

Revised 06-14-2013

Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601



OGC52 Grill Cart Right Panel

Back to Front Page - Click Here

Item | Part # Description

1 36370 Side Panel, RH
27871 Side Shelf
83684 Truss Screw, 10-24 X 1/2
83676 Shoulder Bolt, 3/8 X 3/8
27883 Assy Side Shelf Bracket RH
72207 Slide Rail Set
46086 Drawer Channel, Slide Mount
83192 Keps nut, #8-32

RIN|[aa[Nn|h|W|N

hie Life of the Eitchen Page 2
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




OGC52 Grill Cart Top Drawer

Back to Front Page - Click Here

Item | Part # Description
13544 | Handle Assy

27875 | Cart Drawer Front
83480 | Flat Head Screw

83684 | Truss Screw, 10-24 x 1/2”
46119 | Drawer Liner

72165 | Hi Temp Rubber Bumper
72207 | Slide Rail Set

83689 | Screw

83681 | Acorn Nut

46082 | Drawer Box

[y

VIR (N |Hh|[W|N

[y
o

hie Life of the Eitchen Page 3
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




0OGC52 Grill Cart Tank Drawer

Back to Front Page - Click Here

Item | Part # Description Item | Part # Description
1 13570 [ Handle Assy 7 |46083 | Cart Tool Holder
2 | 27876 |Drawer Front 8 (72207 |Slide Rail Set
3 83480 | Flat Head Screw 9 (83689 |Screw, 10-24 X 1/4
4 83684 | Machine Screw, 10-24 X 1/2 10 |83681 |Acorn Nut
5 72165 | Hi Temp Rubber Bumper 11 |46111 |Cart Dam
6 36295 | Tank Drawer Front Liner 12 | 46081 |Drawer Liner

he Life of the Eitches Page 4
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




OGC52 Grill Cart Electrical Box

WIRE HARNESS NOT
SHOWN
Back to Front Page - Click Here
Item | Part # Description Item | Part # Description

1 46088 | Electrical Box 7 |83689 |Screw, 8-32 x 1/2 Truss Phillips

2 83684 | Screw, 10-24 x 1/2", Truss 8 (72921 |LEV 4998-6Y 1G WP Duplex

3 72905 | Electrical Outlet, 2 Female 9 (72903 | Electrical Outlet, 2 Female

4 | 83628 |Keps Nut,#8-32 SS 10 |72922 |LEV 80401-GY 1G Gray

5 46085 | Electrical Box Cover 11 | 72960 | Wiring Harness (not shown)

6 72904 | Electrical Outlet, 1 Male

EEI=El

The Life of the Kitcher Page 5
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




0OGC52 Grill Cart Bottom Panel

Back to Front Page - Click Here

Item | Part # Description Item | Part # Description
1 46110 | Cart, Bottom Panel 7 72907 | Caster Swivel w/ Brake
2 | 83657 |Bolt, hex hd 8 |83677 |Rod
3 83684 | Screw, 10-24 x 4/2 Truss 9 (83678 |Push Nut
4 83685 | Keps Nut #10-24 10 |72901 |8"” Semi-Pneumatic Wheel
5 36349 | Caster Stiffener 11 | 46084 |Rear Channel Wheel
6 72906 |3 1/2 Caster Swivel - 13703 | Axle Stiffener Assy
- 13699 | Caster Stiffener Assy

hie Life of the Eitchen Page 6
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




OGC52 Grill Cart Bottom Drawer

Back to Front Page - Click Here

Item | Part # Description
13544 | Handle Assy

27903 | Cart Drawer Front
83480 | Flat Head Screw

83684 [ Truss Screw, 10-24 x 1/2”
36434 | Drawer Liner

72165 | Hi Temp Rubber Bumper
72207 | Slide Rail Set

83689 | Screw

83681 | Acorn Nut

46082 | Drawer Box

[y

VIR (N |Hh|[W|N

[y
o

hie Life of the Eitchen Page 7
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




0OGC52 Grill Cart Left Panel

Back to Front Page - Click Here

Item | Part # Description Item | Part # Description
1 72207 | Slide Rail Set 5 |36413 |Side Panel
2 46086 | Slide Mount Drawer Channel 6 (83676 |3/8 x 3/8SS Shoulder Bolt
3 |83684 |Screw, 10-24 X 4/2 Truss 7 |27871 | Cart Side Shelf
4 83192 | Keps Nut, #8-32 8 (27882 | Left Side Shelf Break Assy

The Life of the K

Page 8

Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601



OGC52 Grill Cart Drawer Divider

Back to Front Page - Click Here

Item | Part # Description

1 72207 | Slide Rail Set
83192 | Keps Nut, #8-32
46112 | Drawer Divider
46086 | Drawer Channel, Slide Mount
83684 | Screw, 10-24 X 4/2 Truss
46102 [ Main Channel

||~ |WIN

hie Life of the Eitchen Page 9
Technical Service | 14425 Clark Avenue | City of Industry, CA 91745 | Phone 800-353-2267 | FAX 909-348-5601




	Click Here: 


